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U8 addition 3+2=5 three plus two
equals five

08 subtraction 6—4=2 six minus four
equals two

ANpE] muiltiplication 5X2=10 five times two
equals

NNE division 8+-2=4 eight divided by
two equals four

HFED reminder O+-7=1-2 nine divided by
seven  equals
one , with a
reminder of two

A0 sum = formula

= difference A answer

18 product BEEN round numbers

& quotient miEHhA rounding

INVER decimal B L7 round up

D fraction 0 truncation

3. 14 three point one  HDE mixed fraction




1 one thirds 4 2 four and two

S S thirds

2 two fifths 217 two  hundred

S °10 seventeen over

five hundred ten
pais: denominator nF numerator
RDE improper =) five over three
fraction S
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